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Question 1
Question Type: MultipleChoice

The following aboutHWhich of the descriptions of the Base secondary index is correct?

Options: 
A- Secondary index compares the column to be searched with rowkey is associated with a prime index table

B- At this time, it is listed as a new rowkey, and the original rowkey becomes value

C- twoclassIndex queried 2 times

D- all of the abovecorrect

Answer: 
D

Question 2
Question Type: MultipleChoice



Flume supports cascading multiple Flume, and at the same time, the cascade node supports old data replication.

Options: 
A- TRUE

B- FALSE

Answer: 
A

Question 3
Question Type: MultipleChoice

HiveThe operation process includes the following steps, please select the correct oneorder

1:HiveAccording to table classtypeUpdate HDFS or Hivedata in warehouse.

2:Client submits HQL command

3:YARNAllocate resources to applications in the cluster,andfor YARNH in the queueiveThe job enables authorization.



4: Tezexecute query

5:Hive via JDBCevencatchreturncheckquery result.

Options: 
A- 21435

B- 21345

C- 24135

D- 24315

Answer: 
D

Question 4
Question Type: MultipleChoice

F? ?middle is ten? ?Lightweight?of?Technology provides Cha? ?mechanism, distributed snapshots can? ?Tap Taak/Opara? ?The state

data of the global unified snapshot processing.



Options: 
A- TRUE

B- FALSE

Answer: 
B

Question 5
Question Type: MultipleChoice

Which of the following scenarios are not good at F1ink components?

Options: 
A- to foldGeneration computing

B- stream processing



C- datastorage

D- batch processing

Answer: 
A, C

Question 6
Question Type: MultipleChoice

Which of the following contents can be viewed in the Loader historical job record?

Options: 
A- job status

B- Job start/run time

C- Error lines/number of files

D- dirtydata link



Answer: 
A, B, D

Question 7
Question Type: MultipleChoice

systemDuring the authentication process, all Kerbero evidence,BagContains the user's password. The user's affiliated information needs

to be downloaded from( )Obtain.

Options: 
A- Ldap

Answer: 
A
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